SAP ABAP table RNCH10X {IS-H CH: Leistungsaufteilung mit X-Feld}

NTPK
MANDT [CLNT (3)]
EINRI [CHAR (4)]
RNCH10X-TALST = NTPK-TALST _0..N | TARIF [CHAR (2)]
P TALST [CHAR (10)]

- NTSI
-7 MANDT [CLNT (3)]

.7 EINRI [CHAR (4)]
7 " RNCH10X-TASPA = NTSI-TASPA _g..N | TARIF [CHAR (2)]

- TASPA [CHAR (2)]

-7 TOO0O
0..N [MANDT [CLNT (3)]

__________________ TNO1

1~ . _ RNCH10X-ABTYP = TN21Y-ABTYP 0..N | MANDT [CLNT (3)]
Tl EINRI [CHAR (4)]

1 ST o
. ~~_ TN21Y
. RNCH10X-TARIF = TNKO1-KATID 7\ [MANDT [CLNT (3)]
. EINRI [CHAR (4)]
Y ABTYP [CHAR (4)]
T~ TNKO1

0N | MANDT [CLNT (3)]
EINRI [CHAR (4)]
KATID [CHAR (2)]




